


2. (14 points) Two toy cars, a Gray one and a Black one, are on a two lane straight track. At ¢ = 0, they
are both at the point of reference shown by the vertical line. The distance is measured positive to the
right. The distance function of the Gray Car is

G(t) = —1.25t% + 20¢
where G is in centimeters and the time ¢ is in seconds. The velocity of the Black Car is
b(t) = —0.25t* + 5t — 16
which is in centimeters per second. Everything happens in 0 < ¢ < 12, Answer the following questions.

(a) The following are two snapshots. Put arrows to show which direction each car was traveling when
the picture was taken. Show your computations under the pictures. The Gray Car is in the top
lane, in case the colors came too close in your copy.
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(b) At what time is the Gray Car farthest to the right?
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(c) At what time is the Black Car momentarily at rest? -
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